BID to the

BOROUGH OF AVALON

CAPE MAY COUNTY, NEW JERSEY RECONSTRUCTION OF VARIOUS STREETS CONTRACT NO. M-120

SCHEDULE OF BASE BID ITEMS

			AMOUNT
ITEM 1	EXCAVATION, UNCLASSIFIED		
	3,100 CY @ \$35.00 Per CY	\$_	108,500.00
	Thirty Five Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 1 in Words and Numbers)		•
.==			
ITEM 2	EXCAVATION, TEST PITS		
	68 CY @ \$Per CY	\$	10,200.00
	One Hundred Fifty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 2 in Words and Numbers)	· ·	•
ITEM 3	BANK RUN SAND AND GRAVEL BACKFILL, VARIABLE THICKN IF AND WHERE DIRECTED	ESS	,
	478 CY @ \$PER CY	\$	9,560.00
	Twenty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 3 in Words and Numbers)		
ITC. 4	NIDOT ET OTOLIT IT LIEUT IN INCIDENTIAL		
ITEM 4	NJDOT 57 STONE, IF AND WHERE DIRECTED		
	75 CY @ \$Per CY	\$	3,375.00
	Forty Five Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 4 in Words and Numbers)		
ITEM 5	SOIL AGGREGATE BASE COURSE, TYPE I-5, 6" THICK		
	8,570 SY @ \$Per SY	\$	85,700.00
	Ten Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 5 in Words and Numbers)		

ITEM 6	SOIL AGGREGATE BASE COURSE, TYPE I-5, VARIABLE THICKNESS, IF AND WHERE DIRECTED					
	75 CY @ \$ Per CY	\$	3,750.00			
	Fifty Dollars and Zero Cents					
	(WRITE UNIT PRICE for Item 6 in Words and Numbers)					
(TC) 4 7	LIGHT MIV ACRUMENT ASSESSMENT OF THE STATE O					
ITEM 7	HOT MIX ASPHALT 19M64 BASE COURSE, 2-1/2" THICK					
	1,395 TON @ \$Per TON	\$_	101,835.00			
	Seventy Three Dollars and Zero Cents					
	(WRITE UNIT PRICE for Item 7 in Words and Numbers)					
ITEM 8	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 1-1/2" THICK					
	838 TON @ \$ Per TON	\$_	82,124.00			
	Ninety Eight Dollars and Zero Cents					
	(WRITE UNIT PRICE for Item 8 in Words and Numbers)					
ITEM 9	CONCRETE GUTTER, 8" THICK					
	451 SY @ \$ 180.00 Per SY	\$	81,180.00			
	One Hundred Eighty Dollars and Zero Cents	Ψ				
	(WRITE UNIT PRICE for Item 9 in Words and Numbers)					
ITEM 10	CONCRETE ROCKER GUTTER					
	20 SY @ \$200.00 Per SY	\$	4,000.00			
	Two Hundred Dollars and Zero Cents	5				
	(WRITE UNIT PRICE for Item 10 in Words and Numbers)					
ITEM 11	CONCRETE SIDEWALK, 4" THICK					
	390 SY @ \$Per SY	\$	39,000.00			
	One Hundred Dollars and Zero Cents					
	(WRITE UNIT PRICE for Item 11 in Words and Numbers)					
ITEM 12	CONCRETE DRIVEWAY APRON, 6" THICK					
	590 SY @ \$96.00 Per SY	\$	56,640.00			
	Ninety Six Dollars and Zero Cents					
	(WRITE UNIT PRICE for Item 12 in Words and Numbers)	_				

ITEM 13	DETECTABLE WARNING SURFACE		
	112 SF @ \$ ^{26.00} Per SF	\$_	2,912.00
	Twenty Six Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 13 in Words and Numbers)		- %
ITEM 14	8"x16" CONCRETE VERTICAL CURB		
	4,190 LF @ \$30.00 Per LF	\$_	125,700.00
	Thirty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 14 in Words and Numbers)		
ITEM 45	TOPOGUINO AUTUROS		
ITEM 15	TOPSOILING, 4" THICK		
	215 SY @ \$ Per SY	\$_	1,075.00
	Five Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 15 in Words and Numbers)		
ITEM 16	SODDING		
I I E IVI 16			
	215 SY @ \$10.00 PER SY	\$_	2,150.00
	Ten Dollars and Zero Cents	365	
	(WRITE UNIT PRICE for Item 16 in Words and Numbers)		
ITEM 17	LANDSCAPING STONE		
11 - 101 17			6.750.00
	135 TON @ \$Per TON	\$_	6,750.00
	Fifty Dollars and Zero Cents		2
	(WRITE UNIT PRICE for Item 17 in Words and Numbers)		
ITEM 18	THERMOPLASTIC, REFLECTORIZED, PAVEMENT MARKINGS		
	2.50		3,412.50
	7 5 61 68 \$ 1 EN 61	\$_	
	Three Dollars and Fifty Cents (WRITE UNIT PRICE for Item 18 in Words and Numbers)		
	(WRITE ONLY PRICE TO HEIT TO IT WORDS and Numbers)		
ITEM 19	TEMPORARY LATEX SAFETY STRIPE, 6" WIDE		
	3,221 LF @ \$Per LF	ď	1,127.35
	Thirty Five Cents	\$	7,127,00
	(WRITE UNIT PRICE for Item 19 in Words and Numbers)		
	(= 5.00 1.00 to 10.00 10 iii Words and Minbers)		

ITEM 20	TRAFFIC CONTROL		
	1 LS @ \$	\$	25,000.00
	Twenty Five Thousand Dollars and Zero Cents		
	(WRITE LUMP SUM PRICE for Item 20 in Words and Numbers)		
	,		
ITEM 21	CONSTRUCTION SIGNS		
	4 UNITS @ \$Per UNIT	\$	800.00
	Two Hundred Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 21 in Words and Numbers)		
ITEM 22	RESET UTILITY BOX/VALVE BOX		
	3 UNITS @ \$Per UNIT	¢	300.00
		Ψ	
	One Hundred Dollars and Zero Cents (WRITE UNIT PRICE for Item 22 in Words and Numbers)		
	(WATE SAIT FROE TO ROTH 22 III Words and Numbers)		
ITEM 23	RESET INLET/MANHOLE CASTING		
TTEIVI 25	E00.00		4 000 00
	2 UNITS @ \$PER UNIT	\$_	1,000.00
	Five Hundred Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 23 in Words and Numbers)		
ITEM 24	REPLACE MANHOLE CASTING		
	3 UNITS @ \$1,000.00 PER UNIT	\$	3,000.00
	One Thousand Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 24 in Words and Numbers)		
	•		
ITEM 25	TRENCH RESTORATION		
	4,701 LF @ \$Per LF	\$	32,907.00
	Seven Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 25 in Words and Numbers)		
ITEM 26	TEMPORARY TRENCH RESTORATION - OCEAN DRIVE		
	43 LF @ \$ PER LF	\$	4,300.00
	One Hundred Dollars and Zero Cents	11-	
	(WRITE UNIT PRICE for Item 26 in Words and Numbers)		

A3 LF @ \$	ITEM 27	PERMANENT TRENCH RESTORATION - OCEAN DRIVE		
WRITE UNIT PRICE for Item 27 in Words and Numbers		43 LF @ \$150.00 PER LF	\$	6,450.00
WRITE UNIT PRICE for Item 27 in Words and Numbers		One Hundred Fifty Dollars and Zero Cents		
TEM 30 B"x6" PVC SDR 35 SERVICE LATERAL 450 LF @ \$				-
TEM 30 B"x6" PVC SDR 35 SERVICE LATERAL 450 LF @ \$				
One Hundred Fifteen Dollars and Zero Cents (WRITE UNIT PRICE for Item 28 in Words and Numbers) ITEM 29 8"Ø CERAMIC EPOXY LINED CLASS 52 DUCTILE IRON GRAVITY SEWER MAIN 14 LF @ \$ 300.00 PER LF 4,200.00 Three Hundred Dollars and Zero Cents (WRITE UNIT PRICE for Item 29 in Words and Numbers) ITEM 30 8"x6" PVC SDR 35 BRANCH CONNECTION 20 UNITS @ \$ 650.00 Per UNIT 13,000.00 Six Hundred Fifty Dollars and Zero Cents (WRITE UNIT PRICE for Item 30 in Words and Numbers) ITEM 31 6"Ø PVC SDR 35 SERVICE LATERAL 450 LF @ \$ 80.00 Per LF \$ 36,000.00 Eighty Dollars and Zero Cents (WRITE UNIT PRICE for Item 31 in Words and Numbers) ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$ 350.00 Per UNIT \$ 6,650.00	ITEM 28	8"Ø PVC SDR 35 GRAVITY SEWER MAIN		
(WRITE UNIT PRICE for Item 28 in Words and Numbers) ITEM 29 8"Ø CERAMIC EPOXY LINED CLASS 52 DUCTILE IRON GRAVITY SEWER MAIN 14 LF @ \$		663 LF @ \$15.00 Per LF	\$_	76,245.00
ITEM 29		One Hundred Fifteen Dollars and Zero Cents		
ITEM 29		(WRITE UNIT PRICE for Item 28 in Words and Numbers)		_
GRAVITY SEWER MAIN 14 LF @ \$, and the second		
Three Hundred Dollars and Zero Cents (WRITE UNIT PRICE for Item 29 in Words and Numbers) ITEM 30 8"x6" PVC SDR 35 BRANCH CONNECTION 20 UNITS @ \$650.00 Per UNIT	ITEM 29			
Three Hundred Dollars and Zero Cents (WRITE UNIT PRICE for Item 29 in Words and Numbers) ITEM 30 8"x6" PVC SDR 35 BRANCH CONNECTION 20 UNITS @ \$650.00		14 LF @ \$ PER LF	\$_	4,200.00
ITEM 30			10.	
ITEM 30		(WRITE UNIT PRICE for Item 29 in Words and Numbers)		5
20 UNITS @ \$650.00 Per UNIT \$13,000.00 Six Hundred Fifty Dollars and Zero Cents (WRITE UNIT PRICE for Item 30 in Words and Numbers) ITEM 31 6"Ø PVC SDR 35 SERVICE LATERAL 450 LF @ \$80.00 Per LF Eighty Dollars and Zero Cents (WRITE UNIT PRICE for Item 31 in Words and Numbers) ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$350.00 Per UNIT \$6,650.00		·		
Six Hundred Fifty Dollars and Zero Cents (WRITE UNIT PRICE for Item 30 in Words and Numbers) ITEM 31 6"Ø PVC SDR 35 SERVICE LATERAL 450 LF @ \$ 80.00 Per LF \$ 36,000.00 Eighty Dollars and Zero Cents (WRITE UNIT PRICE for Item 31 in Words and Numbers) ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$ 350.00 Per UNIT \$ 6,650.00	ITEM 30	8"x6" PVC SDR 35 BRANCH CONNECTION		
(WRITE UNIT PRICE for Item 30 in Words and Numbers) ITEM 31 6"Ø PVC SDR 35 SERVICE LATERAL 450 LF @ \$ 80.00 Per LF \$ 36,000.00 Eighty Dollars and Zero Cents (WRITE UNIT PRICE for Item 31 in Words and Numbers) ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$ 350.00 Per UNIT \$ 6,650.00		20 UNITS @ \$650.00 Per UNIT	\$_	13,000.00
ITEM 31 6"Ø PVC SDR 35 SERVICE LATERAL 450 LF @ \$80.00Per LF\$36,000.00 Eighty Dollars and Zero Cents (WRITE UNIT PRICE for Item 31 in Words and Numbers) ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$350.00Per UNIT \$6,650.00		Six Hundred Fifty Dollars and Zero Cents		
450 LF @ \$		(WRITE UNIT PRICE for Item 30 in Words and Numbers)		
450 LF @ \$				
Eighty Dollars and Zero Cents (WRITE UNIT PRICE for Item 31 in Words and Numbers) ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$	ITEM 31	6"Ø PVC SDR 35 SERVICE LATERAL		
Eighty Dollars and Zero Cents (WRITE UNIT PRICE for Item 31 in Words and Numbers) ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$		450 LE @ \$ 80.00		36,000,00
(WRITE UNIT PRICE for Item 31 in Words and Numbers) ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$ Per UNIT \$ 6,650.00			\$	30,000.00
ITEM 32 VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE 19 UNITS @ \$ Per UNIT \$ 6,650.00				
19 UNITS @ \$Per UNIT \$6,650.00		(WRITE UNIT PRICE for Item 31 in Words and Numbers)		
19 UNITS @ \$Per UNIT \$6,650.00				
Fel ONIT	ITEM 32	VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE		
Three Hundred Fifty Dollars and Zero Cents		19 UNITS @ \$Per UNIT	\$	6,650.00
		Three Hundred Fifty Dollars and Zero Cents		
(WRITE UNIT PRICE for Item 32 in Words and Numbers)		(WRITE UNIT PRICE for Item 32 in Words and Numbers)		
ITEM 33 PRECAST SANITARY SEWER MANHOLE	ITEM 33	PRECAST SANITARY SEWER MANHOLE		
3 UNIT @ \$6,000.00 Per UNIT \$ 18,000.00		3 UNIT @ \$6,000.00 Per UNIT	\$	18,000.00
Six Thousand Dollars and Zero Cents			200	
(WRITE UNIT PRICE for Item 33 in Words and Numbers)				

ITEM 34	6"Ø PVC C-900 WATER MAIN PIPE AND FITTINGS			
	1600 LF @ \$PER LF	\$_	144,000.00	
	Ninety Dollars and Zero Cents			
	(WRITE UNIT PRICE for Item 34 in Words and Numbers)		•	
ITEM 35	FIRE HYDRANT ASSEMBLY			
	2 UNITS @ \$ Per UNIT	\$	14,000.00	
	Seven Thousand Dollars and Zero Cents	Ψ-		
	(WRITE UNIT PRICE for Item 35 in Words and Numbers)			
ITEM 36	SERVICE CONNECTIONS			
	75 UNITS @ \$PER UNIT	\$	93,750.00	
	One Thousand Two Hundred Fifty Dollars and Zero Cents	Ψ_		
	(WRITE UNIT PRICE for Item 36 in Words and Numbers)		•	
	(
ITEM 37	1" COPPER SERVICE PIPE			
	1,790 LF @ \$45.00 Per LF	\$	80,550.00	
	Forty Five Dollars and Zero Cents			
	(WRITE UNIT PRICE for Item 37 in Words and Numbers)			
ITEM 38	WATER METER ASSEMBLY 5/8"			
	48 UNITS @ \$850.00 PER UNIT	\$_	40,800.00	
	Eight Hundred Fifty Dollars and Zero Cents			
	(WRITE UNIT PRICE for Item 38 in Words and Numbers)			
ITEM 39	WATER METER ASSEMBLY 3/4"			
	11 UNIT @ \$850.00 Per UNIT	\$_	9,350.00	
	Eight Hundred Fifty Dollars and Zero Cents			
	(WRITE UNIT PRICE for Item 39 in Words and Numbers)			
ITEM 40	WATER METER ASSEMBLY 1"			
	11 UNIT @ \$ Per UNIT	\$	10,175.00	
	Nine Hundred Twenty Five Dollars and Zero Cents			
	(WRITE UNIT PRICE for Item 40 in Words and Numbers)			

ITEM 41	ABANDONMENT OF EXISTING WATER MAIN		
	1 LS @ \$7,500.00	\$	7,500.00
	Seven Thousand Five Hundred Dollars and Zero Cents	-	
	(WRITE LUMP SUM PRICE for Item 41 in Words and Numbers)		=
ITEM 42	6" GATE VALVE AND VALVE BOX		
	7 UNIT @ \$1,600.00 Per UNIT	\$_	11,200.00
	One Thousand Six Hundred Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 42 in Words and Numbers)		<u>.</u>
ITEM 43	UTILITY BYPASS, IF AND WHERE DIRECTED		
	4 UNIT @ \$Per UNIT	\$_	10,000.00
	Two Thousand Five Hundred Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item 43 in Words and Numbers)		•
ITCN 44	UNIDEDDDAW		
ITEM 44	UNDERDRAIN		
	2,825 LF @ \$Per LF	\$_	113,000.00
	Forty Dollars and Zero Cents		•:
	(WRITE UNIT PRICE for Item 44 in Words and Numbers)		
ITEM 45	TYPE "A" INLET		
11 - 101 - 13	2.052.00		44 550 00
	3 UNIT @ \$ Per UNIT	\$_	11,550.00
	Three Thousand Eight Hundred Fifty Dollars and Zero Cents		,
	(WRITE UNIT PRICE for Item 45 in Words and Numbers)		
ITEM 46	12"Ø DUCTILE IRON PIPE CLASS 52 STORMWATER PIPE		
71 - 11			19,650.00
	131 LF @ \$150.00 Per LF	\$	10,000.00
	One Hundred Fifty Dollars and Zero Cents (WRITE UNIT PRICE for Item 46 in Words and Numbers)		
	(VALUE ONLY FINOL TOT REITH 40 III VVOIDS BIID INDITIDEIS)		
ITEM 47	15"Ø DUCTILE IRON PIPE CLASS 52 STORMWATER PIPE		
	405.00	•	16,500.00
	100 E1 @ 41 C1 E1	\$	
	One Hundred Sixty Five Dollars and Zero Cents (WRITE UNIT PRICE for Item 47 in Words and Numbers)		
	(

ITEM 48	SITE RESTORATION	
	1 LS @ \$	\$5,000.00
	Five Thousand Dollars and Zero Cents	
	(WRITE LUMP SUM PRICE for Item S53 in Words and Numbers)	
ITEM 49	FUEL PRICE ADJUSTEMENT	\$ <u>700.00</u>
ITEM 50	ASPHALT PRICE ADJUSTEMENT	\$ <u>1,400.00</u>
ITEM 51	ALLOWANCE FOR ADDITIONAL WATER MAIN WORK	\$_10,000.00
TOTAL BA	ASE BID (Items 1 through 51 inclusive)	\$ 1,555,967.85

One Million Five Hundred Fifty Five Thousand Nine Hundred Sixty Seven Dollars and Eighty Five Cents

(WRITE TOTAL BASE BID in Words and Numbers)

The following bid items cover work which may or may not be awarded as part of this contract. Refer to the note on the Bid Summary page for the method which the Owner will use for the award of this contract.

	SCHEDULE OF UTILITY SUPPLE	MENTAL BID ITEMS	AMOUNT
ITEM S2	EXCAVATION, TEST PITS, IF AND WHERE	DIRECTED	
	24 CY @ \$_150.00 Per CY	\$	3,600.00
	One Hundred Fifty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S2 in Words a	nd Numbers)	
ITEM S3	BANK RUN SAND AND GRAVEL BACKFILI IF AND WHERE DIRECTED	., VARIABLE THICKNESS	
	42 CY @ \$PER CY	\$	840.00
	Twenty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S3 in Words a	and Numbers)	
ITEM S20-	1 UTILITY TRAFFIC CONTROL		
	1 LS @ \$8,000.00	\$	8,000.00
	Eight Thousand Dollars and Zero Cents		
	(WRITE LUMP SUM PRICE for Item S20-1 it	Words and Numbers)	
ITEM S25	TRENCH RESTORATION		
	606 LF @ \$ Per LF	\$	3,030.00
	Five Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S25 in Words	and Numbers)	
TEM S34	6"Ø PVC C-900 WATER MAIN PIPE AND FI	TTINGS	
	290 LF @ \$PER LF	\$	34,800.00
	One Hundred Twenty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S34 in Words	and Numbers)	

ITEM S35	FIRE HYDRANT ASSEMBLY		
	1 UNITS @ \$ Per UNIT	\$	7,000.00
	Seven Thousand Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S35 in Words and Numbers)		
ITEM S36	SERVICE CONNECTIONS		
	3 UNITS @ \$PER UNIT	\$_	3,750.00
	One Thousand Two Hundred Fifty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S36 in Words and Numbers)		
	9		
ITEM S37	1" COPPER SERVICE PIPE		
	80 LF @ \$Per LF	\$	3,600.00
	Forty Five Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S37 in Words and Numbers)		
ITEM S38	WATER METER ASSEMBLY 5/8"		
	3 UNITS @ \$PER UNIT	\$	2,700.00
	Nine Hundred Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S38 in Words and Numbers)		
IIEM S41	ABANDONMENT OF EXISTING WATER MAIN		
	1 LS @ \$2,000.00	\$	2,000.00
	Two Thousand Dollars and Zero Cents		
	(WRITE LUMP SUM PRICE for Item S41 in Words and Num	nbers)	
ITEM S42	6" GATE VALVE AND VALVE BOX		
	1 UNIT @ \$2,000.00 Per UNIT	\$	2,000.00
	Two Thousand Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S42 in Words and Numbers)		
ITEM 642	HTH ITV BYDAGG IE AND WHERE DIRECTED		
1 1 EIVI 343	UTILITY BYPASS, IF AND WHERE DIRECTED		0.500.00
	1 UNIT @ \$Per UNIT	\$	2,500.00
	Two Thousand Five Hundred Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S43 in Words and Numbers)		

ITEM S45	TYPE "A" INLET		
	4 UNIT @ \$ Per UNIT	\$_	15,400.00
	Three Thousand Eight Hundred Fifty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S45 in Words and Numbers)		•
ITEM S46	12"Ø DUCTILE IRON PIPE CLASS 52 STORMWATER PIPE		
	236 LF @ \$Per LF	\$_	38,940.00
	One Hundred Sixty Five Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S46 in Words and Numbers)		
ITEM S48-	1 UTILITY SITE RESTORATION		
	1 LS @ \$	\$_	5,000.00
	Five Thousand Dollars and Zero Cents		
	(WRITE LUMP SUM PRICE for Item S48-1 in Words and Number	rs)	•
ITEM S52	4" GATE VALVE AND VALVE BOX		
	1 UNIT @ \$Per UNIT	\$_	2,000.00
	Two Thousand Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S52 in Words and Numbers)		e:
ITEM S53	8" GATE VALVE AND VALVE BOX		
	1 UNIT @ \$, Per UNIT	\$_	3,000.00
	Three Thousand Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S53 in Words and Numbers)		
TEM S54	PAVEMENT TRENCH RESTORATION - SEVENTH AVENUE		
	606 LF @ \$ Per LF	\$_	18,180.00
	Thirty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S54 in Words and Numbers)		
TOTAL UT	LITY SUPPLEMENTAL BID	•	156,340.00
1		Ψ=	
One Hundre	d Fifty Six Thousand Three Hundred Forty Dollars and Zero Cents		
WDITE TO	TAL LITH ITY CURDI EMENTAL DID in Mordo and Numbers	_	

SCHEDULE OF ROADWAY SUPPLEMENTAL BID ITEMS

			AMOUNT
ITEM S1	EXCAVATION, UNCLASSIFIED		
	425 CY @ \$9er CY	\$_	14,875.00
	Thirty Five Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S1 in Words and Numbers)		
ITEM \$4	NJDOT 57 STONE, IF AND WHERE DIRECTED		
	25 CY @ \$Per CY	\$	1,250.00
	Fifty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S4 in Words and Numbers)		
ITEM S5	SOIL AGGREGATE BASE COURSE, TYPE I-5, 6" THICK		
	1,170 SY @ \$ 10.00 Per SY	\$_	11,700.00
	Ten Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S5 in Words and Numbers)		
ITEM S6	SOIL AGGREGATE BASE COURSE, TYPE I-5, VARIABLE THIC IF AND WHERE DIRECTED	KNES	SS,
	25 CY @ \$ Per CY	\$_	1,250.00
	Fifty Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S6 in Words and Numbers)		
ITEM S7	HOT MIX ASPHALT 19M64 BASE COURSE, 2-1/2" THICK		
	192 TON @ \$Per TON	\$	14,016.00
	Seventy Three Dollars and Zero Cents	No	
	(WRITE UNIT PRICE for Item S7 in Words and Numbers)		
	8		
ITEM S8	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 1-1/2" THICK		
	115 TON @ \$ Per TON	\$_	11,270.00
	Ninety Eight Dollars and Zero Cents		
	(WRITE UNIT PRICE for Item S8 in Words and Numbers)		

ITEM S11	CONCRETE SIDEWALK, 4" THICK							
	60 SY @ \$	100.00	Per SY	\$_	6,000.00			
	One Hundred	Dollars and Zero Cen	ts					
	(WRITE UNIT	PRICE for Item S	11 in Words and Numbers)		3 7			
ITEM S12	CONCRETE D							
	65 SY @ \$	96.00	Per SY	\$_	6,240.00			
	Ninety Six Dollars and Zero Cents							
	(WRITE UNIT PRICE for Item S12 in Words and Numbers)							
ITEM S13	DETECTABLE							
	28 SF @ \$	26.00	Per SF	\$_	728.00			
	Twenty Six Do							
	(WRITE UNIT	PRICE for Item St	13 in Words and Numbers)		•			
ITEM S14	8"x16" CONCRETE VERTICAL CURB							
	480 LF @ \$	30.00	Per LF	\$_	14,400.00			
	Thirty Dollars	and Zero Cents						
	(WRITE UNIT	PRICE for Item S1	14 in Words and Numbers)		•			
ITEM S15	TOPSOILING,	4" THICK						
	50 SY @ \$	5.00	_ Per SY	\$	250.00			
	Five Dollars and							
	(WRITE UNIT I	e .						
TEM S16	SODDING							
	50 SY @ \$	10.00	PER SY	\$	500.00			
	Ten Dollars an							
			16 in Words and Numbers)		i.			
TEM S17	LANDSCAPING	STONE						
	15 TON @ \$	50.00	Per TON	\$_	750.00			
	Fifty Dollars an							
	(WRITE UNIT PRICE for Item S17 in Words and Numbers)							

ITEM S18	THERMOPLAS	STIC, REFLECTOR	RIZED, PAVEMENT MARK	INGS		
	230 SF @ \$	3.50	PER SF	\$_	805.00	
	Three Dollars an	d Fifty Cents				
	(WRITE UNIT	PRICE for Item S1	8 in Words and Numbers)		-	
ITEM S20-	2 ROADV	VAY TRAFFIC COI	NTROL			
	1 LS @ \$	3,000.00		\$_	3,000.00	_
	Three Thousand	Dollars and Zero Cen	ts		20	
	(WRITE LUMP	SUM PRICE for I	tem S20-2 in Words and Nu	umbers)	_	
ITEM S21	CONSTRUCTION					
	2 UNITS @ \$_	200.00	Per UNIT	\$_	400.00	_
		ollars and Zero Cents			_	
	(WRITE UNIT I	PRICE for Item S2	1 in Words and Numbers)			
ITEM S48-	2	MV CITE DECTOR	PATION			
11 EIVI 546-		/AY SITE RESTOR	RATION		0.000.00	
	1 LS @ \$8,0			\$_	8,000.00	_
		d Dollars and Zero Cer			-	
	(WRITE LUMP	SUM PRICE for It	em S48-2 in Words and Nu	mbers)		
TOTAL RO	ADWAY SUPP	LEMENTAL BID		\$	95,434.00	
NP - 1 - E	T					
		ndred Thirty Four Dolla	ars and Zero Cents AL BID in Words and Nun	nhare)	K	
(**************************************	TAL NOADWA	TOOFFEEMENT	AL DID III WOIGS and Num	ibers)		
		<u>BI</u>	D SUMMARY			
PRICE FO	R BASE BID			\$ <u>1,555</u>	5,967.85	
PRICE FO	R UTILITY SUP	PLEMENTAL BID	ITEMS	\$156,340.00		
PRICE FO	R ROADWAY S	UPPLEMENTAL E	BID ITEMS	s 95	5,434.00	